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©el: MBI A &4 (&)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-E" Hl DS 2
G JFQI 2 1t 567,795 553,862 13,933
= 75,156 75,156 0
Al 492,639 478,706 13,933
QIR AMHIA DA 401,896 396,501 5,395
= 75,156 75,156 0
Al 326,740 321,345 5,395
CHeIMHI A Skat 401,896 396,501 5,395
= 75,156 75,156 0
Al 326,740 321,345 5,395
DAHoEE QIR (I AS ) 129,223 112,503 16,720
201 Let24E] 78,981 74,981 4,000
01 At 22l 66,599 62,599 4,000
Oglas &ad &l 4,000 0 4,000
202 O4dl 3,000 12,000 A9,000
01 = LH 4 Hi 3,000 12,000 A 9,000
OQJAALE HRFZA Kl 0 4,500 A 4,500
Oags RFA 0 4,500 A 4,500
405 XtatE SHI 21,720 0 21,720
01 At ESFH S 21,720 0 21,720
OCIJAA AAIZE OIS CHL AIAE 20,720 0 20,720
-JAI(=HLE#I|) 7,000,0008 » 1CH 7,000 0 7,000
-&3 2UH 1,400,000& * 9CH 12,600 0 12,600
-&3 3£ 70,000 * 16CH 1,120 0 1,120
O2=0 YRS SPAI| A
1,000,000 * 1CH 1,000 0 1,000
fooAEZI 29 108,113 107,238 875
201 et 58,113 57,238 875
02 22224l 22,867 21,992 875
ORQIALZI MEBIHE 2lHI RAE=H
5,0008 = 25CH * 7OH&E 875 0 875
A=E0A K 11,430 18,430 AT7,000
202 o4dl 0 7,000 AT7,000
01 = LH 4 Hi 0 7,000 AT7,000
OAH=FIHE HRFX ol 0 3,500 A 3,500
OA=0J128 HRF& 0l 0 3,500 A 3,500
DAMOEE QA2 21,030 26,230 25,200
202 o4 Hl 6,300 11,500 25,200
01 = LH 4 Hi 6,300 11,500 A5,200
OZSZLEHE 2= oyl 0 5,200 A5,200
HPEs (a2 &) 8,538 0 8,538
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S Otol & ot

H: HRES (ot A)

ol BEXE (&)

SN FH-SA(EN) - MBAY - BES 0l &F 24 p/E-E" HlnE2
28XE 8,538 8,538
=& dlgte =z 8,538 8,538
202 04l 4,269 4,269
01 = LH YI 4,269 4,269
O=21Exz a3 4,269 4,269
802 BHEt= DI EF 4,269 4,269
01 22X 3eeE= 4,269 4,269
O=1E8=x3 a3 4,269 4,269




